
Multiplication: Numbers -1000 to 1000 (V-2)
SOLUTIONS

Name:

Time: Score: /

19) 3

7

2 1

×
20) 6

1 9

5 4

6

1 1 4

×

21) 8

3 6

4 8

2 4

2 8 8

×
22) 1

1 0 0

1 · ·
1 0 0

×

23) 1 0

2 4

4 0

2 0

2 4 0

×
24) 8

9

7 2

×

25) 9

3 2

1 8

2 7

2 8 8

×
26) 7

9 1

7

6 3

6 3 7

×

27) 4

3 3

1 2

1 2

1 3 2

×
28) 3

4 6

1 8

1 2

1 3 8

×

29) 6

8

4 8

×
30) 7

4 2

1 4

2 8

2 9 4

×

31) 7

1 8

5 6

7

1 2 6

×
32) 7 8

2 2

1 5 6

1 5 6

1 7 1 6

×

33) 4 2

3 1

4 2

1 2 6

1 3 0 2

×
34) 3 6

1 8

2 8 8

3 6

6 4 8

×

Mathematics: Multiplication - Level 6 - Vertical - Set 2 34 © workulum.com

https://www.workulum.com

